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Data: Ages of Students
Result: how to write algorithm to find youngest student
initialization;
Min(nums,low,high)
if low = high then
| return nums(high);
end
mid <- low + (high - low)/2;
return Math.Min(Min(nums,low,mid),Min(nums,mid,high));
Algorithm 1: How to find Min with divide and conquer
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Data: Array of Numbers
Result: v is in Array or not ?
initialization;
Find(v,nums,low,high)
if high < low then

| return false;
end
mid <- low + (high - low)/2;
if nums(mid) = v then

| return true;
end
return (Find(v,nums,low,mid - 1) or Find(v,nums,mid + 1,high))

Algorithm 2: Checking v is in the Array or not
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Data: SortedArray of Numbers
Result: v is in Array or not ?
initialization;
FindSorted Array (v,nums,low,high)
if high < low then

| return false;
end
mid <- low + (high - low)/2;
if nums(mid) = v then

| return true;
end
if v < nums(mid) then

‘ return FindSorted Array(v,nums,low,mid);
else

‘ return FindSorted Array (v,nums,mid + 1,high);
end

Algorithm 3: Checking v is in the SortedArray or not
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T(n) = 4T(n/2) + kn
T(n) = 3T(n/2) + kn
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A(x) = alx + a0
B(x) = bilx + b0
C(x) = alblz? + (alb0 + aObl)x + a0bo
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C(x) = alblz? + ((al + a0) (b1l + b0) - albl - a0b0)x + aOb0
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